Lesson PUZZLE C Hegél%r

WINDOWS
or MAC

N ame ) VIDEO 4 .

Directions: Use the clues to solve each puzzle. To find the correct number, cross out the answer to each clue in
the square that is accounted for. Your answer will be the number that is left. Play video for directions and
answers

1) I'snot 10x3 ordx2 2 It'snot 8x3 or6x3

It’snot 25 x 2 or9x4 It’'snot 3x5 or 3x7

It’s not 50 x 2 or30x2 It’snot 2x40 or5x20

It’snot 12x2 or 9x2 It’snot 3x9 ordx5s

What is the number? What is the number?

3) It’snot  3x10 or3x20 It’snot 6x6 or 7x7

It’snot 5x 5 or7x5 It’snot 8x8 or9x9

It’snot 5x10 or7x7 It’snot 4x4 or3x3

It’snot 8x2 orllx3 It’snot 25x2 orl5x2

What is the number? What is the number?



https://youtu.be/Z0GjnjK6cQQ

